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Part - III
Mleflwey / SCIENCE

( UD wHmD @y kide ) / Tamil & English Version)

s ara : 3.00 wenfl Crwb | [ Qwrss wlHiGuearser - 7
Time Allowed : 3.00 Hours |

[ Maximum Marks : 7
SiBleyenrss : (1) oiasg dlanés@pd sflwins dal ufleurd 2 drersr aarusme
sfluniégs Qardrerayb. wésuUS el @@apllpuldar sons
s sreeiluureriliib 2 L angwrs Qgfeldseayib.
(2) Beod ichavg BHUY @wUman aT(pSIeSHE LD 345CsTq Daugh@
Lweni(bhigs GeuamBb. ULkiseT euamreusnE Quardls LwerBdsans.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
GPiILyY : Geehanggmer Bsn@ LigHamans Qamar. g
Note :  This question pPaper contains four parts.

u@é]-l/l'm'r-l

GPILyY : (i) SIS eileanné g @ng@n il wallése 12x1=12
(ii) Gar(hssul_(eren 11601 (&) elemL_satleh 18lsayw Fhu@L_w el udman

@ﬂiﬁ.ﬂ?@ﬁ@ﬁﬁ (_@lf_{)]llql_(_l)l_@' bfﬂun_uﬁiwumu.pb G&Ii’g# a‘r@p,&,&*m_

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer
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1. ®el Qeendlan o muGum@sswrang erliGLITED wélliyewig).
(<) G @M
(<) erdlidg

(B) Criaem idng adisED
(r) &1

Magnification of a convex lens is always :

(a) Positive

(b) Negative
@ Either posit_ixlre (or) negative
(d) Zero :

2. Spsse c;rpg; evanudler Galt 2 U smeilen Hlanm erewrantled BranE GeDUiD ?
(21) o Slengay (<) B Slengay

(@) v Havgey () Blpgmen Sangey
In which of the following reaction, the mass number decreases by four of the

daughter nucleus ?

@ a decay (b) B decay

(c) v decay (d) neutron decay

3. fflan Hymbd epovdsag Herp
(1) 2 8 (<) 16 ) (@) 184

The gram molecular mass of water is !

(a) 28 (b) 16¢g CCQ s @ 8¢
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Spsaan_eupmiar a1y FreusseriiLme ?
(=) SAACLnmen (<2p) Quenfen
(@) #i () gydsapre

Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

l,@w ater (d) Alcohol

5. IUPAC Quuii@sdleruy on@anBssts Csrsstiu@n @rarLmd How
GeQarm_(H

(1) e (<) uls Dfled

(@) go () gpei
The secondary suffix used in IUPAC nomenclature of an aldehyde is

(-al -ol (b} -oic acid

'(é) -al (d) -one

6.  Queumpeiisafien Gguwib Di@Daer Osmer g

(@) 3 (<) 4 (@) 2 (v} 3

The heart of amphibians possess ___——— chambers.

@3 (b)) 4 ok @ (d) S over
rél(fﬁu"‘&/mrn
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T Alepnd _ @é peGupdng.
() LsRIs@MsD
(<) el CLrsner Mwreden 2 U pLOLD
(&) ypsGsred gevar
(/) el GLrsrer Mwrefen 2 L LD& &aeua
Kreb’s cycle takes place in
(a) chloroplast

mitochondrial matrix

(c) stomata

(d) inner mitochondrial membrane

8. Qm e By rrenser STeRTLLRL @b

(=) sair AP sHeniy _ (=) Qupeperar' ypesfl
(8) earr &( (rF) &eung er9$elwin
B1 olar neurons are found in : '
@ retina of eye (b) cerebral cortex
() embryo (d) respiratory epithelium

9. HAaCafluden efenaraumd 2 (Heumeug
(31) GBVCUTiag (=) Qarefliguim
(&) wsCan () SlermBGLrevGuriger

Syngamy results in the formation of
(a)  zoospores (b) conidia

(c\ zygote
J) g (d) chlamydospores
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10. @U”®§@5 :

(1)
(2)
(3)

(4)

amr&Gamnr

&M Carminm
uredlig il
urreS](Sug_g]u_m

(=) (M-, (2)-Gv), (3)-(ii), (4)-(i)

(=) (1)-(v), (2)-(ii), (3)-(), (4)-(id)

() (D-(v), (2)-(), (3)-(i), (4)-(iii)

Match the following :

(1)
2)
(3)
4)

Sarcoma
Carcinoma
Polydipsia
Polyphagia

P W)-(idi), (2)-(iv), (3)-(i), (4)-0)

%

(1)-(iv), (2)-(iii), (3)-(i), (4)-(ii)

€ (1)-), (2)-Gii), (3)-(iv), (4)-(i)

(d)

1 ..
e Bsps89 e smyesmons 9:3:3 11 o (Heundlmg) ?

(W-fiv), (2)-(i), (3)-(ii), (4)-(i)

(“9') @fﬂg,gb

8)

9 3:3

1S gai@sD

[
\ Segregation
(c)

h nd‘“—'Pendent assortment

- 1 ratio is due to :

= T
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5
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() S5 urer L
(i DAflatug winen SN&LD
W) @evamigfa LpmGem
(i) Excessive hunger
(ii) Excessive thirst
(iii) Connective tissue cancer
(iv) Stomach cancer
(=) GRECS HOHFHE
() @HmEG peeo
(b) Crossing over
(d) Receasivenoss & Purn ovet
[ S o
e —
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12, GUL-_L_rTU @Gm gn@gaﬂu@ 51'5}57@“_'0 G ETaREnHE (gpg@n (.IDOQGLS]GD &@@auu(agﬁwmr'r p
(=) Qamyrenn (<) J.W. amrirev@uis
(&) Quneme) grev () abuyCar . efiflav

The term Ethnobotany was coined by :

(a) Khorana J.W. Harshberger

(c) Ronald Ross (d) Hugo de Vries

U@ - II / PART - II

G&IOY : amabugyd g damssense o wadssayb. e aar 22 -5
sL_Lmuwns efewellsseb. T=x2=14

Note : Answer any seven questions. Question No. 22 is Compulsory.
13. fHleawb ~ UMIUNESED. SIS UMSSEET WTaMma ?

Define inertia. Give its classification.

14. araid gear fao Hpwrss Cerammdpg ?

Why does the sky appear blue in colour ?

15. &0 gCGan() - CUEN T IMISHEHELD.

Define one Calorije,

16. oeusn -G 6t 4)ud i Lwenunhaetle) gGaad ©nemg eens F 015,

Mention any IWO dpplicationg of Avogadro’s Law.
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